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PART A: Vocabulary

Dfrecrffm.w: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you ---a-w-v- to the next question, vou should take some time to make sure
you’'re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute --—---v-e- : the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—-—--- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author nsed -—----—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --—------ matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s ---=---n-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -—-—-
foreibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --——-- ,'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
~emmmmnmm (lictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to «--eeacee- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants,
Selective herbicides kill specitic targets, (11) ======-mn- the desired crop relatively unharmed.
Some of these act by interfering with (12) ---------- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites, railways and railway
embankments are not selective (13) emmeemeen all plant material with which thev come into
contact. Smaller quantities are used m forestry. pasture systems, and management of areas
[ I ) S—— as wildlife habitat.

Some plants produce natural herbicides, (15) === the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, 1s
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

d g0 3O I of (wll JU5 590 3T W gus AS 3 glils



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

13- 1) and kill 2y killer of 3) to kall 4y which kill
14- 1) where set aside 2) in which they are set aside

3) that set aside 4) set aside
15- 1) either 2) such as 3) or 4) includes

PART C: Reading Comprehension

| Directions: Read the Sollowing three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1

In the held of environmental economices, agricultural economists have contributed in three
main areas: designing incentives to control environmental externalities (such as water pollution
due to agricultural production), estimating the value of non-market benefits from natural
resources and environmental amenities (such as an appealing rural landscape). and the complex
interrelationship between economic activities and environmental consequences. With regard to
natural resources. agricultural economists have developed quantitative tools for improving land
management, preventing erosion. managing pests, protecting biodeversity, and preventing
livestock diseases. While at one time, the field of agricultural economics was focused primarily
on farm-level issues, in recent years agricultural economists have studied diverse topics related
to the economics of food consumption. In addition to economists' long-standing emphasis on
the effects of prices and incomes. researchers in this field have studied how information and
quality attributes influence consumer behaviour. Agricultural economists have contributed to
understanding how households make choices between purchasing food or preparing it at home,
how food prices are determined. definitions of poverty thresholds. how consumers respond to
price and income changes in a consistent way. and survev and experimental tools for
understanding consumer preferences.  Agricultural economics research has addressed
diminishing returns in agricultural production, as well as farmers' costs and supply responses.
Much research has applied economic theory to farm-level decisions. Studies of risk and
decision-making under uncertainty have real-world applications to crop insurance policies and
to understanding how farmers in developing countries make choices about technology
adoption. These topics are important for understanding prospects for producing sufficient food
for a growing world population, subject to new resource and environmental challenges such as
water scarcity and global climate change.

16- The passage deals with studies of risk and decision-making under uncertainty as an

ISSIRR WM osonnssornsine
1) produetion economics 2) consumer behaviour
3) biodeversity protection 4) prevention of erosion
17- Which of the following does the passage regard as a non-market benefit from natural
resources?
1) “rural landscape’ 2) *water pollution”
3) “environmental externalities’ 4) “livestock diseases’

18- It is stated in the passage that agricultural economics.........uvveu.
1) determines how food prices for on local communities
2) asks consumers to be careful with price and income
3) is no longer mainly concerned with farm level issues
4) 1s concerned with food consumption at local level
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19- The passage deals with all the following major topics in agricultural economics
EXCEPT.....ccccvnins
1) *agricultural environment and natural resources
2) “food and consumer economics’
3) *farm management’
4) “agricultural export®
20- The word *threshold’ in the passage (underlined) originally refers to the.........in a
building,
1) *ceiling area™  2) "doorstep’ 3) “floor space’ 4) *window glass’

PASSAGE 2

There is potential for loss throughout the grain harvesting and agricultural marketing chains,
During stripping of maize grain from the cob. known as shelling. losses can occur when
mechanical shelling is not followed up by hand-stripping of the grains that are missed. Certain
shellers can damage the grain. making insect penetration easier. For crops other than maize.
threshing losses occur as a result of spillage, incomplete removal of the grain or by damage to
grain during the threshing. They can also occur after threshing due to poor separation of grain
from the chaff during cleaning or winnowing. Incomplete threshing usually occurs in regions
with high labour costs, particularly at harvest time, when labour is too scarce and expensive to
justify hand-stripping after an initial mechanical thresh. Certain mechanical threshers are
designed only for dry grain. A wet season's paddy harvest may clog the screens and grain will
be lost, Cleaning is essential before milling. On the farm, cleaning is usually a combination of
winnowing and removal by hand of heavier items such as stones. Losses can be low when the
operation is done carefully but high with carelessness. With correct equipment. cleaning losses
should be low in mills. but grain may be separated together with dirt or. alternatively, dirt may
be carned forward into the milling stages. In drying, grain that is dried in yards or on roads, as
is common in parts of Asia. may be partially consumed by birds and rodents. Wind, either
natural or from passing vehicles in the case of road drying. can blow grain away. The main
cause of loss during drying is the cracking of grain kernels that are eaten whole, such as rice.
Some grains may also be lost during the drying process.

21- It is stated in the passage that cleaning grains with the right equipment.........
1) separates the grain only from part of the outer chaff
2) may lead to dirt carried forward into the milling stage
3) is economically efficient as it takes minimal manual
4) can be done on the ground but 1s best done mside a mill
22- The passage points to the fact that threshing is most efficiently done through.......
1) biological insect penetration just before harvest
2) winnowing the chaff {rom the each of the grains
3) hand-stripping afier an initial mechanical thresh
4) prevention of spillage in specially in pre-harvest
23- The passage mentions that milling cannot be done.............

1) when the grains are wet 2) while the drying process is on
3) right after winnowing 4) if the grains are not cleaned
24- The passage deals best with.............
1) ‘post-harvest losses of grains’ 2) *how to thresh maize grains’
3) “costs involved in processing grain’ 4) *methods of grain harvesting”
25- The word ‘paddy’ in the passage (underlined) is most commonly used in application
W0uisanesnssinns
1) *barley’ 2) “wheat’ 3) "maize’ 4) ‘rice’
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PASSAGE 3

Fruits and vegetables are living parts of plant and contain 65 to 95 percent water. When food
and water reserves are exhausted. produce dies and decays. Anything that increases the rate at
which a product’s food and water reserves are used up increases the likelihood of losses.
Increases in normal physiological changes can be caused by high temperature. low
atmospheric humidity and physical injury. Such injury often results from careless handling.
causing internal bruising, splitting and skin breaks. Respiration is a continuing process in a
plant and cannot be stopped without damage to the growing plant or harvested produce. It uses
stored starch or sugar and stops when reserves of these are exhausted. leading to ageing.
Respiration depends on  a good air supplv. When the air supply is
restricted fermentation instead of respiration can occur. Poor ventilation of produce also leads
to the accumulation of carbon dioxide. When the concentration of carbon dioxide increases it
will quickly ruin produce. Fresh produce continues to lose water after harvest. Water loss
causes shrinkage and loss of weight. The rate at which water is lost varies according to the
product. Leafy vegetables lose water quickly because they have a thin skin with many pores.
Potatoes, on the other hand. have a thick skin with few pores. But whatever the product, to
extend shelf or storage life the rate of water loss must be mimimal. The most significant factor
is the ratio of the surface area of the fruit or vegetable to its volume. The greater the ratio the
more rapid will be the loss of water. The rate of loss is related to the difference between the
water vapour pressure inside the produce and in the air. Produce must therefore be kept in a
moist atmosphere.

26- It is stated in the passage that.............
1) skin of leafty vegetables is thin with a few pores
2) high temperature stops physiological changes
3) minimal water loss leads to better shelfl life
4) the starch stored in potato causes its ageing
27- The passage mentions that there is............inside a produce.
1) “water vapour” 2) *solid nitrogen”  3) “fertiliser trace™  4) “carbon dioxide’
28- It is stated in he passage that produce must not be kept in a completely ...............

environment.
1) “wet’ 2) “dry’ 3) “dark” 4) *soily’
29- The passage mentions that.............

1) fruit’s sugar can also be subjected to respiration
2) fruits contain more water in them than vegetables
3) splitting takes place only alter fruit’s skin is broken
4) water reserves in fruit can never be fully exhausted
30- The word *bruising’ in the passage (underlined) is closest to.............
1) “injury’ 2) “eut’ 3) "decay’ 4) ‘erash’
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